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B A TERE (1991) | REC— DB (ni/s) |

No. | k& (RF) | Stz MR |SIZMELE|HEC—IRBO/S) |0 eyt prs R s =l iy o
1| 1954/8/16 302 mm 1.46 # 12,300 13, 559 14, 440

2 | 1954/0/12 337 mn 1.31 % 18,700 17,615 18,038

3| 1961/9/14 318 m 1.38 %9 23,200 . 18, 838

4| 1963/8/8 395 mm 111 # 14,700 12, 299 14,333 13, 492 13,125

5| 1970/8/20 326 m 1.35 # 20,500 17,798 21, 255 20, 131 3 .
6 | 1972/9/7 251 mn 1.76 # 16,000 16,276 18, 808 17,859 16,980

7| 1974/9/7 329 mm 1.34 # 24,000 16, 161 17,836

8 | 1975/8/16 343 m .28 # 17,100 15,764 21, 347 18, 838 18, 305

o | 1975/8/20 336 mn 1.30 #1 13,500 8, 666 9, 048 9, 301 8, 758

10| 1976/0/11 578 mm 1.00 # 11,000 12,612 14,027 13,523 12, 957




